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BEM | £ | BEM ABXRO( - | BBIXRQ| EE BERO| AEXRQ| &FEM \FEHRO| )70 FEEQ (1(3?—; )2) EEERING (23{/163—218/)5) EI51%£Q
1 | Kir=%#E (FB2R) JTA 38,400 | 40,800 | 19,200 50% 20,400 50% 22,550 41% 45% 35,000 9% 36,500 11% — —— — ——
2 | f&[ =94 (A85R) JTA 30,900 [ 33,200 | 15,450 50% 16,600 50%| 18,100 41% 45% 28,200 9% 29,400 11% — ——— - ——
3| EE=HIE JTA 66,400 | 68,900 | 33,200 50% 34,450 50% 39,050 41% 43% 57,700 13%| 60,500 12% - —— — ———
4| EE=FE%H JTA 62,200 | 64,600 | 31,100 50% 32,300 50% 36,550 41% 43% 54,050 13%| 56,650 12% — —— — —
5| Kx=%H18 JTA 54,300 | 56,800 | 27,150 50% 28,400 50% 31,850 41% 44% 47,600 12%| 49,800 12% - —— — —
6 | /= hiE(ABER) JTA 45800 [ 48,100 | 22,900 50% 24,050 50% 26,900 41% 44% 41,200 10%| 43,200 10% - —— — —
1| ZaE="#G5) JTA 43300 [ 45800 21,650 50% 22,900 50% 25,400 41% 45% 39,000 10%| 40,800 11% — —— — ——
8 | [El=;9%2 (A=R) JTA 38,400 | 40,800 | 19,200 50% 20,400 50% 22,550 41% 45% 34,700 10%| 36,350 11% - ——— — —
9 | H4E(FRgR) =FH1i8 JTA/RAC| 25,800 27,100 12,900 50% 13,550 50% 15,150 41% 44% 22,300 14%| 23,300 14% 23,300 14% — ———
10| %8 (FB8)==1 JTA/RAC| 19,600 | 20,900 9,800 50% 10,450 50% 11,500 41% 45% 17,100 13% 17,900 14% 17,900 14% — ——
11| AIE=EH RAC 13,400 [ 13,900 6,700 50% 6,950 50% 7,800 42% 44% 11,600 13% 12,100 13% 12,100 13% — ———
12| H4E (B8 =AXKE JTA/RAC| 12,100 | 12,700 4,600 62% 4,650 63% 7,750 36% 39% 8,500 30% 9,000 29% 9,000 29% 10,700 16%
13| AiE=51H RAC 12,100 [ 12,700 4,150 66% 4,200 67% 7,750 36% 39% 7,400 39% 7,900 38% 7,900 38% 7,900 38%
14| #4882 =5 RAC 15,900 [ 17,100 7,950 50% 8,550 50% 9,350 41% 45% 14,450 9% 15,600 9% 15,600 9% — ——
15| #4258 =X KE RAC 26,200 | 27,400 [ 13,100 50% 13,700 50%| 15,350 41% 44% 23,750 9% 24,900 9% 24,900 9% — ———
16| 48 (FB%R) = K&K RAC 25,600 | 25,600 8,950 65% 8,950 65% 16,400 36% 36% 16,300 36% 16,300 36% 16,300 36% 16,300 36%
17| F4E (3% =db K& RAC 25,600 [ 25,600 8,950 65% 8,950 65%| 16,400 36% 36% 16,300 36% 16,300 36% 16,300 36% 16,300 36%
18] mMARE=JIXHE RAC 8,500 | 8,500 3,000 65% 3,000 65% 5,450 36% 36% 5,450 36% 5,450 36% 5,450 36% 5,450 36%
19| BEE=%REM RAC 8,700 | 8,700 3,100 64% 3,100 64% 5,550 36% 36% 5,600 36% 5,600 36% 5,600 36% 5,600 36%
20| A48 (FRE) =5 3 RAC 32,600 | 34,400 | 11,450 65% 12,050 65%| 20,850 36% 39% 19,550 40%| 20,450 41% 20,450 41% 26,100 24%
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ERE (E5IFEQD| FRE O E5I1FEQ| FEE O F51FEQ| FEE O FN5IFRO| FEE O\ESIFEQ| FEE O\ESIFXQ| EAEH BNSIFEO| b8 B5IEQ| HHM I B51FEO| HABI EN51FEQ
1| RBr=i$%8 (A=) JTA 33,850 12%| 36,500 11%| 38,300 6%| 33,850 12%| 36,500 11%| 38,300 6% 24,600 36%| 26,100 36%| 13,800 64%| 16,800 59%
2 | t2R =% (FFH) JTA 26,800 13%| 29,400 11%| 30,900 7%| 26,800 13%| 29,400 11%| 30,900 7% 19,800 36%| 21,250 36%| 12,000 61%| 15,000 55%
3| HE=HRIE JTA 57,200 14%| 60,500 12%| 63,500 8%| 57,200 14%| 60,500 12%| 63,500 8% 42,500 36%| 44,100 36%| 18,800 72%| 21,800 68%
4| HER=H JTA 53,450 14%| 56,650 12%| 59,500 8%| 53,450 14%| 56,650 12%| 59,500 8% 39,800 36%| 41,350 36%| 18,800 70%| 21,800 66%
5| Kflk=%H18 JTA 46,650 14%| 49,800 12%| 52,300 8%| 46,650 14%| 49,800 12%| 52,300 8% 34,750 36%| 36,350 36%| 18,800 65%| 21,800 62%
6 | /MA=FiE(ARER) JTA 40,700 11%| 43,200 10%| 47,600 1%| 40,700 11%| 43,200 10%| 47,600 1%| 29,300 36%| 30,800 36%| 18,800 59%| 21,800 55%
7| BEE=H%GE) JTA 36,700 15%| 40,800 11%| 42,800 7%| 36,700 15%| 40,800 11%| 42,800 7% 27,700 36%| 29,300 36%| 16,000 63%| 19,000 59%
8 | R =748 (ARER) JTA 33,850 12%| 36,350 11%| 40,300 1%| 33,850 12%| 36,350 11%| 40,300 1%| 24,600 36%| 26,100 36%| 14,000 64%| 17,000 58%
9 | H#E(HFH) =R\ JTA/RAC| 21,400 17%| 23,300 14%| 24,500 10%| 21,400 17%| 23,300 14%| 24,500 10%| 16,500 36%| 17,350 36%| 11,900 54% 14,900 45%
10| HF#EFEHE) =204 JTA/RAC| 16,350 17%| 17,900 14%| 18,800 10%| 16,350 17%| 17,900 14%| 18,800 10%| 12,550 36%| 13,400 36%| 9,900 49%| 12,450 40%
11| REE=E%H RAC 11,100 17%| 12,100 13%| 13,400 4% 11,100 17%| 12,100 13%| 13,400 4% 8,600 36%| 8,900 36%| 7,100 47%| 8,100 42%
12| HEGH) =AXE JTA/RAC| 10,000 17%| 11,000 13%| 12,200 4% 10,000 17%| 11,000 13%| 12,200 4% 7,750 36%| 8,150 36%| 6,450 47%| 7,500 41%
13| AiE=5iE RAC 10,000 17%| 11,000 13%| 12,200 4%| 10,000 17%| 11,000 13%| 12,200 4% 7,750 36%| 8,150 36%| 6,450 47%| 7,500 41%
14| HEGREH) =5k RAC 13,900 13%| 15,600 9% 16,600 3% 13,900 13%| 15,600 9% 16,600 3% 10,200 36%| 10,950 36%| 9,300 42%| 10,050 41%
15| HEGREH) =EEXKXKE RAC 23,200 11%| 24,900 9% 26,900 2% 23,200 11%| 24,900 9%| 26,900 2% 16,750 36%| 17,550 36%| 14,000 47%| 16,200 41%
16| %3 (&) =mKE RAC 22,750 1% 23,250 9% 23,250 9% -— -— — — -— -—| 16,400 36%| 16,400 36%| 14,000 45%| 15,250 40%
17| H#E &) =t KE RAC 22,750 1% 23,250 9% 23,250 9% -— -— — — -— -—| 16,400 36%| 16,400 36%| 14,000 45%| 15,250 40%
18| MRE=1IKXKE RAC 7,300 14%| 7,800 8%| 7,800 8% -— — — -— -— -—| 5,450 36%| 5,450 36% 4,950 42%| 5,000 41%
19| Ea=%2EM RAC 7,500 14%| 8,000 8% 8,000 8%| 7,500 14%| 8,000 8% 8,000 8%l 5,550 36%| 5,550 36%| 5,050 42%| 5,100 41%
20| ¥R (BRER) =53 E RAC 27,350 16%| 29,200 15%| 33,900 1%| 27,350 16%| 29,200 15%| 33,900 1%| 20,850 36%| 22,000 36%| 16,700 49%| 20,550 40%
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R O BISIED| B5IEQ| FEE | F51FEQ| FEE O BSIEDO| TE O B5EXRQ
1 | KBr=+#2 (FBHH) JTA 13,000 66% 68% 15,500 62%| 15,200 60%| 18,200 55%
2 | 12k =1 (RER) JTA 10,500 66% 68% 13,000 61% 15500 50%| 18,500 44%
3 | RR=HA1E JTA 15,500 77% 78% 18,000 74%| 15,500 77%| 18,500 73%
4 | RE=EH JTA 15,500 75% 76% 18,000 72%| 15,500 75%| 18,500 71%
5 | Kik=%H1E JTA 13,000 76% 77% 15,500 73%| 15,500 71%| 18,500 67%
6 | /MR=TiE(ARER) JTA 13,000 72% 73% 15,500 68%| 15,500 66%| 18,500 62%
7 | BEE=4#E () JTA 13,000 70% 72% 15,500 66% 15,500 64%| 18,500 60%
8 | REL=%#& () JTA 13,000 66% 68% 15,500 62%| 15,500 60% 18,500 55%
9 | HEEGRER) =F1IE JTA/RAC | 10,500 59% 61% 10,500 61% 15500 40%| 18,500 32%
10 | HfE(ARER) == JTA/RAC | 10,500 46% 50% 10,500 50%| 13,500 31%| 16,500 21%
| AE=E%H RAC 7,500 44% 46% 7,500 46% 9,000 33%| 10,000 28%
12 | HEREFH) =AKE | JTA/RAC| 7500 38% 41% 7,500 41% 9,000 26%| 10,000 21%
13 | AE=51E RAC 7,500 38% 41% 7,500 41% 9,000 26%| 10,000 21%
14 | HEGRER) =5 RAC 7,500 53% 56% 7,500 56% 9,000 43%| 10,000 42%
15 | HiE(IRER) =|EEKSE| RAC 13,000 50% 53% 13,000 53% 13,500 48%| 16,500 40%
16 | FH#B(BEH) =mAR RAC 13,000 49% 49% 13,000 49% —- -— e -—
17 | H#E (&) =db K&K RAC 13,000 49% 49% 13,000 49% —- — — —
18 | MARE=1IKXKE RAC 7,500 12% 12% 7,500 12% — — — —
19 | EH=%REMH RAC 7,500 14% 14% 7,500 4%  -— - — —
20 | & (R =5BE RAC 10,500 68% 69% 10,500 69% 15,500 52%| 18,500 46%
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HAEEEISI(RA) | HBIEEEE ONR) L] AT ey | BARERS | AvF-8E | ~otbe | @EFEES | RETHN
X &
10/27-3/28) BIIED | BI5IED|10/27-3/28| FFIED | 2I31%Q)| EEE |FZNED| E—# |HEE ot it 4 et pet X%
1| KR =i (BE) JTA — — -] — — - — — - — 1,000 11,300 50,400 6,000 400 C
2 | B =8 (E) JTA — — -] — — | — — - — 1,000 11,300 39,800 6,000 400 B
3 | mE=riE JTA — — -] - —|  ——| 43950  34%| 44500  35% 1,000 11,300 88,050 6,000 400 D
4 | EE=mE JTA — — -] - —| ——| 41,150  34%| 41800  35% 1,000 11,300 82,100 6,000 400 D
5 | xR=%15 JTA — — -] - —| —| 36150  33% 36,650,  35% 1,000 11,300 73,250 6,000 400 D
6 | /i =3hiE (BRER) JTA — — -] — — | — — - — 1,000 11,300 60,250 6,000 400 D
7 | AER=E &) JTA — — - — — | — — - — 1,000 11,300 56,800 6,000 400 c
8 | FEL=:hiE(FH) JTA - - -— - - — - - - - 1,000 11,300 49,150 6,000 400 C
9 | siEEE) =FKE JTA/RAC| —- — -] - —| -—| 10500  59% 11,050  59% 1,000 6,200 32,800 4,000 300 A
10 | i@ EpH) =28 JTA/RAC| —- — -] - —| —| 8050  59% 8,700,  58% 1,000 6,200 25,100 4,000 300 A
1| grE==% RAC — — -] - — - 5500  59% 5500  60% — 6,200 16,650 4,000 300 A
12 | @ @pEm) =axkse |JTA/RAC| — — -] - — - 5100  58% 5100  60% 1,000 5,150 16,450 3,000 200 A
13| BE=51F RAC — — -] — — - 5100  58% 5100  60% — 5,150 16,450 3,000 200 A
14 | 8 (BH) =55 RAC — — - — — - — — - — — 6,200 23,850 4,000 300 A
15 | i@ (pEm) =tELE | RAC — — - — — - — — - — — 6,200 40,550 4,000 300 B
3 =)= R , % o5, % | - — - — — 5,15 , , B
16 | 48 (IPE) =F A AC 10,000 61%  61% 100 80% 80" 150 43,400 3,000 200
17 | 48 (FRZ|) =JL KE RAC 10,000 61% 61% 5,100 80% 80% - - - - — 5,150 43,400 3,000 200 B
18 | mAE=4tk= RAC 3,400 60%  60% 1,800 79%  79% - — - — — 3,100 12,750 3,000 200 A
19| =H=2pn RAC 3,500 60%  60% 1,800 79%  79% — - — — 3,100 23,850 3,000 200 A
20 | #i&(HE) =5HE RAC — — ] — —| —| 13300  59% 13,650  60% — 5,150 46,900 3,000 200 c
XRACIEIZIZT VS AIME(E BT YT IL—FRIDKREEHYFEE A,
— o VR EZSLEYT
itk 55 o s
DSRAJIEES J%ol AP
1 F A | E—JH EEE
_ FEREREIS

73R 5B I1,000M (Fr ) A MELIE 1,000/ (38D

= ZMEL-ESR

. = . XRACIZIF VS

DG - En' L ) =L
XRAC‘ Iian\Jd) X;E'j:% Jgs-ti—AJ XJU)EQE@&)
YEE A,

A5 XD BEH TKAEEES XLt
51 EQ: E—VHIKANEBES I3t
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WA A :2018/10/24
BICHEF B RER S
RS RKALBEESEGEEH) DSAIRKANTBETHEGEEH)
A 19,600 KFH LV HE (FFH) =B & - AIER 20,600AFKEE LB (H) ==t - HiEHR
B 19,600 LLE 31,0005k 20,600 LIt 32,000M ki
o} 31,000 Lt 44,300M %k 32,000 Lt 45300M %k
D 44,300 Ll £ 45,300M LL
WECEF
BiRE S A B Cc D
7o s A e s | TTEAISI1-3-7 21 500 1,000 1,500/ 2,000
RiRELET FEHREIS|7 1,000 2,000 3,000 4,000
FHEEN NI
TxZEE BUHFHEIEIMAMNFEA
13 M 36 B 71 LA gt 2,000 4,000 6,000M 8,000M
CUNRERSH H5RJ 2,500 4,500 6,500 8,500
1B R B %I LA RS HRE 1,000 2,000 3,000 4,000M
UNRER) H5RJ 1,500 2,500 3,500 4,500
TRTEEIS]1 I BHE 253 T R als] 71T i R al5121 1 SRAEEI5] 7 1[X Esc D BB F B A AL
FHEED *9,
TEHRVEE |TEBRSNUTR—N—%FITDIILSEFITEEEdevAILEIS ITFEHEIS| 28 F. BREIZESHLN
ECEFHHEAERASINET D TITEELESLY,
SHEED BEHEZIBYBCEFHRENERINET, FRHEBIILZEDESYTT,
T%ZEE X/]\JL,LEU:/]\IEI:EJELE INBEER MBI NBEREERIE . NEKREEFEBITY,
=R —EEAZDOREMEDES K TIRELTEE A,

X LFCIF20196 104 27H ~20205F3 A28 HER ST TY -
XEVHFHHTLRFHEM (ERLTXEH-Y430M) LERLI-REBERLRITFET,

JTA/RAC



BEFH :2018/10/24

OVSAIFHFMEIS], VSRIDRIFRAFERBG] FSAIBEEANERFAERESITTRER (LERF) ICIRM$H=Y1,000MZEME

MR EHREIS| NEEFR(10827H~11H30H. 1H6B~2A29BEES)

KIZAJDHRENENRR-BELITVFET,

OI77—RAMISARHFERENE], T7—ASRIDRFAFEREIG], TJ7— RIS FEENNERFHRBLESETRES (TEF) ITIEM$HT-Y8,000MZEME

XKI77—ARL7SRIETHEF CRH) =X (#F)  E5[, FLik, P8 (B RICHRELTEYET, _ _ _ _ _ _ _
spom sy eV E S CElE] IV ES TR BAREA LE TR FEMRES]
P B | BhHO 02T 02T V2T mE
ERD | EME | mMe VOV wme | WF S0V e WE VSOV e W

HECHA) =82 |=ExCHE) &| &4 (G ) JAL [JTA/RAC 62,200 5% 31,100 52% 36,550 44%
EoHE PN JTA/RAC| JAL 62,200 5% 31,100 52% 36,550 44%
B (PFA) =F/1E|=xcan) %[ 34E R EH) JAL [JTA/RAC 66,400 7% 33,200 54% 39,050 45%
K (BEPE) JAL JTA 66,400 16% 33,200 58% 39,050 51%
AiEFE |HHEGE) JTA/RAC| JAL 66,400 7% 33,200 54% 39,050 45Y%
KR (BFF) == | KPR (R %| i $E (3R ER) JAL [JTA/RAC 44,200 24% 22,100 62% 26,100 55%
BEoX | GRS JTA/RAC| JAL 44200 24% 22,100 62% 26,100 55%
KB (Bf8) == | KR (BI78) [ 48 (FRER) JTA |JTA/RAC 44200 24% 22,100 62% 26,100 55%
EoE [P JTA/RAC| JTA 44,200 24% 22,100 62% 26,100 55%
KB (FF) =R18 | Xk ) %[ 448 (FRER) JAL |JTA/RAC 54,300 15% 27,150 58% 31,850 50%
AiEH  |[HiE(GRER) JTA/RAC| JAL 54,300 15% 27,150 58% 31,850 50%
KM (BEPE) =H1E | XBR (B8E) | &2 (FRER) JTA |JTA/RAC 54,300 15% 27,150 58% 31,850 50%
AiIEHE  [HiE(GRER) JTA/RAC| JTA 54,300 15% 27,150 58% 31,850 50%
ZHE(hE) ==& | 258 (b %] 8 (FREH) JTA [JTA/RAC 45,300 28% 22,650 64% 26,750 57%
=EoX | (RER) JTA/RAC| JTA 45,300 28% 22,650 64% 26,750 57%
25 E (hE) =R E|anE (b &[4 (FFH) JTA [JUTA/RAC 46,500 33% 23,250 66% 27,450 60%
AiEFE |HEGE) JTA/RAC| JTA 46,500 33% 23,250 66% 27,450 60%
ALIR (BT 5 = il (N8 | FLIR (5 F#0) % R CHIH) JAL JAL 57,400 31% 28,700 66% 33,850 59%
Rk FF) JAL JAL 57,400 32% 28,700 66% 33,850 60%
K (BHF) JAL JTA 57,400 32% 28,700 66% 33,850 60%
%t B (&) JAL JTA 57,400 33% 28,700 66% 33,850 60%
12 JAL JTA 57,400 35% 28,700 67% 33,850 62%
8 () &| HE (CPFA) JAL JAL 57,400 31% 28,700 66% 33,850 59%
KR (B JAL JAL 57,400 32% 28,700 66% 33,850 60%
KR (B8d8) JTA JAL 57,400 32% 28,700 66% 33,850 60%
£ E (hEp) JTA JAL 57,400 33% 28,700 66% 33,850 60%
12 JTA JAL 57,400 35% 28,700 67% 33,850 62%
IR (T2 =RE[ieFET 2| ER CHHE) JAL JTA 67,100 35% 33,550 68% 39,600 62%
AiEH [ERCIH) JTA JAL 67,100 35% 33,550 68% 39,600 62%
fEE==9h EEF A JRE) JTA |JTA/RAC 39,100 23% 19,550 61% 23,050 54%
BEoH | PiEGRNE) JTA/RAC|  JTA 39,100 23% 19,550 61% 23,050 54%
= =518 f2EFE S (GRER) JTA |JTA/RAC 39,800 30% 19,900 65% 23,500 59%
AiEH  |[FiE(FRER) JTA/RAC| JTA 39,800 30% 19,900 65% 23,500 59%
Zihl=R/iE | LHNE |ERCHH) JAL JTA 73,900 34% 36,950 67% 43,600 61%
AEX [ERIH) JTA JAL 73,900 34% 36,950 67% 43,600 61%
BllII=%H18 BIFE |HRCIH) JAL JTA 71,900 35% 35,950 68% 42 400 62%
AiEH |[RRECHA) JTA JAL 71,900 35% 35,950 68% 42 400 62%
ik =5x18 PlEE |HRECHH) JAL JTA 71,500 35% 35,750 68% 42,200 62%
AiEH |[ERECHA) JTA JAL 71,500 35% 35,750 68% 42 200 62%
whLh=H/iE whFE |[HRERCHA) JAL JTA 70,900 35% 35,450 68% 41,850 62%
AiEH |[ERECHA) JTA JAL 70,900 35% 35,450 68% 41,850 62%
EfE=FH1E BREER [HECHHA) JAL JTA 67,000 34% 33,500 67% 39,550 61%
AiEH [ERGH) JTA JAL 67,000 34% 33,500 67% 39,550 61%
EH—hRiE EAE | ERH) JAL JTA 66,700 33% 33,350 67% 39,350 61%
AiEHE |[ERECHA) JTA JAL 66,700 33% 33,350 67% 39,350 61%
ZR=%A18 =R¥E [ER(IH) JAL JTA 66,700 33% 33,350 66% 39,350 60%
AEX [ERIH) JTA JAL 66,700 33% 33,350 66% 39,350 60%
ME=R/1E MEX |HREPIH) JAL JTA 66,700 29% 33,350 65% 39,350 58%
AiEH |[ERCHA) JTA JAL 66,700 29% 33,350 65% 39,350 58%
W=xm1E WkE | EECHH) JAL JTA 66,700 22% 33,350 61% 39,350 54%
AiEHX [EREIH) JTA JAL 66,700 22% 33,350 61% 39,350 54%
IMA=ET INAFE |H4E GRER) JTA |JTA/RAC 57,100 13% 28,550 56% 33,700 48%
BEoH | PiEGRE) JTA/RAC|  JTA 57,100 13% 28,550 56% 33,700 48%
INA=TF1E IMVRFE [ERFECHA) JAL JTA 66,500 27% 33,250 63% 39,250 57%
hfE R ER) JTA [JUTA/RAC 66,500 7% 33,250 54% 39,250 45%
AEX [ERGIH) JTA JAL 66,500 27% 33,250 63% 39,250 57%
e R ER) JTA/RAC| JTA 66,500 7% 33,250 54% 39,250 45%
== MLF | hiE(BRER) JTA |JTA/RAC 44,200 24% 22,100 62% 26,100 55%
EoX |4 (RER) JTA/RAC| JTA 44,200 24% 22,100 62% 26,100 55%
EL=%h18 MWLF  [hsEGRER) JTA [JUTA/RAC 49,800 22% 24,900 61% 29,400 54%
AiEFE  [H4EGRE) JTA/RAC| JTA 49,800 22% 24,900 61% 29,400 54%
R (IRER) =164 |48 (BH) & | KR (FEFD JAL JAL 47,300 39% 23,650 70% 27,900 64%
12 JTA JAL 47,300 42% 23,650 71% 27,900 66%
t&ER [KERUFEFMD JAL JAL 47,300 39% 23,650 70% 27,900 64%
12 JAL JTA 47,300 42% 23,650 71% 27,900 66%
R (BRER) =LA |4 BB | Xk (FEF) JAL JAL 45 500 38% 22,750 69% 26,850 63%
12 JTA JAL 45,500 43% 22,750 71% 26,850 66%
weaH | KERUEEM JAL JAL 45500 38% 22,750 69% 26,850 63%
12 JAL JTA 45,500 43% 22,750 71% 26,850 66%
HEEBE) =S5 rE@B) %] EE JTA JAL 33,500 42% 16,750 71% 19,750 66%
S EF 12 JAL JTA 33,500 42% 16,750 71% 19,750 66%
HEES) =l rE@R ] EF JTA JAL 29,800 45% 14,900 73% 17,600 68%
AL 12 JAL JTA 29,800 45% 14,900 73% 17,600 68%
RR(PHE) =5NB(mmcEm)%| FHiE JTA RAC 66,500 15% 33,250 58% 39,100 50%
EREF [HiE(FB5R) RAC JAL 66,500 15% 33,250 58% 39,100 50%
AiE RAC JTA 66,500 15% 33,250 58% 39,100 50%
XiR(FER =58E| SHEHF |HiEGEH) RAC JAL 54,400 23% 27,200 62% 31,950 55%
AR (BT =5HE|( xR (Em@m | FHiE JTA RAC 54,400 18% 27,200 59% 31,950 52%
EREFE [HEGEEH) RAC JTA 54,400 23% 27,200 62% 31,950 55%
Rig RAC JTA 54,400 18% 27,200 59% 31,950 52%
LR =52 SHEF |4 GREH) RAC JTA 49,000 35% 24,500 68% 31,350 59%
mEE=5E | SHEFE |HiEGEH) RAC JTA 44,700 30% 22,350 65% 28,600 55%
RS =5NE[r&@B) %] FHiE JTA/RAC| RAC 32,600 14% 16,300 57% 20,850 45%
S5 RE fig RAC [JTA/RAC 32,600 14% 16,300 57% 20,850 45%
RR(PA)=AXB|mzmcEm) %] 1 (R EH) JAL [JTA/RAC 52,600 9% 26,300 55% 33,650 42%
AKEH |43 (38%R) JTA/RAC| JAL 52,600 9% 26,300 55% 33,650 42%
KB () = Ak B| KR (37 | 8 (B E) JAL [JTA/RAC 40,000 21% 20,000 60% 25,600 49%
AKXEHE |HiEGREH) JTA/RAC| JAL 40,000 21% 20,000 60% 25,600 49Y%
AR (B978) = AKX B[ Xk (BF) %| 458 (B EH) JTA [JTA/RAC 40,000 21% 20,000 60% 25,600 49%
AXKEFE [HEGEEH) JTA/RAC| JTA 40,000 21% 20,000 60% 25,600 49%
ZEE (P =AXE[ 28R GH) | P G EH) JTA [JUTA/RAC 44,500 20% 22,250 60% 28,500 49%
AKEH |42 (F85R) JTA/RAC| JTA 44 500 20% 22,250 60% 28,500 49%
ERE=AXE fEEFE A GRE) JTA |JTA/RAC 33,100 23% 16,550 62% 21,200 51%
AKEH [HiE (38FR) JTA/RAC| JTA 33,100 23% 16,550 62% 21,200 51%
RS =EErE@R %] &EH JTA JAL 34,000 42% 17,000 71% 20,050 66%
BEH [ JAL JTA 34,000 42% 17,000 71% 20,050 66%

JAL/JTA/JAC/RAC

KIAVERPLZDMOERICEYRYBS CEATEARSHANTETNFET,

FELIFIALR— LAR—O & SRR LS,



A :2018/10/24

[% R B EEX(12851H~12H. 3A1H~58E%%)

QUSRI FMANG], VSAIPMNREFRRBES], VSAIFEEAVERFIFHIRNS T TEER (FERF) TR &HT=Y1,000MZME

KISAIDBRENTNBR -ELTTVFET,

OIT7—ARNISARRIERBIG . T7—ANISANRFHFRBEIS], 77— ARG HEANVERHFREISETRER (&) 1R H=Y8,000MZEME
XKI7—RAEISRITHF (CRAR) =Xk (FF) . EHE, A8, $i8 (GPH) WISHELTEYVET

JAL/JTA/JAC/RAC

KEAVEROZDMOBRHICEYRYBSCENTEGALDGEENCEVET,

Spom sy Rl ERES INRESRIEBREIS] SEREAWNEERIFEHRZIS]
XFE ZEHhth® | BHHO 12/1- | E—45H#] . 12/1- | E—5H#] . 12/1- | E—%5H] o=
XD | REQ | M@ |123/1-5 ZI5|% M 12,3/1-5  ZI3|5%& M 12,3/1-5 Z|3|%=& i
RECHA) == |=Ex38) % 44 (3 5H) JAL |[JTA/RAC 64,600 6% 32,300 53% 36,550 47%
T |G JTA/RAC|  JAL 64,600 6% 32,300 53% 36,550 47%
HRCHE)=/1E|"2x®|) 5| i (3BH) JAL [JTA/RAC 68,900 8% 34,450 54% 39,050 48%
N A4ETiD) JAL JTA 68,900 18% 34,450 59% 39,050 54%
AEF |48 (F3ER) JTA/RAC| JAL 68,900 8% 34,450 54% 39,050 48%
KR (B == | KR (B 5| 48 (B ER) JAL |[JTA/RAC 51,500 17% 25,750 58% 26,100 58%
=B |HHEGNE) JTA/RAC| JAL 51,500 17% 25,750 58% 26,100 58%
KBr (BH78) == | XBx (B3FE) % | ;458 (3R FH) JTA [JTA/RAC 51,500 17% 25,750 58% 26,100 58%
=oHE | PkE(FRER) JTA/RAC| JTA 51,500 17% 25,750 58% 26,100 58%
K (FF) =F1E | AR FER) %| 48 (BRER) JAL |[JTA/RAC 56,800 16% 28,400 58% 31,850 53%
AiEX | HiEGRE) JTA/RAC| JAL 56,800 16% 28,400 58% 31,850 53%
KBk (BH78) = /18 | AR (B9FE) % | ;448 (AR ER) JTA |JTA/RAC 56,800 16% 28,400 58% 31,850 53%
AiEX | HiEGRE) JTA/RAC| JTA 56,800 16% 28,400 58% 31,850 53%
ZHE (b)) == h| =2 m x| 48 (RFH) JTA [JTA/RAC 52,700 21% 26,350 60% 26,750 60%
=EoH |4 (FER) JTA/RAC| JTA 52,700 21% 26,350 60% 26,750 60%
LHE(hEf) =RiE| =R ) %[ 48 (B EH) JTA [JUTA/RAC 53,800 26% 26,900 63% 27,450 62%
AiEHE  |HEGEE) JTA/RAC| JTA 53,800 26% 26,900 63% 27,450 62%
HLIR (T8 =i (B8 | #LIE (T F20) % BRI (P1H) JAL JAL 60,600 31% 30,300 66% 33,850 62%
AR (FFT) JAL JAL 60,600 32% 30,300 66% 33,850 62%
N A4ETiD) JAL JTA 60,600 32% 30,300 66% 33,850 62%
ZHE (hER) JAL JTA 60,600 33% 30,300 66% 33,850 62%
2 JAL JTA 60,600 35% 30,300 67% 33,850 64%
FEMHE X ERCHHA) JAL JAL 60,600 31% 30,300 66% 33,850 62%
AR (FF1) JAL JAL 60,600 32% 30,300 66% 33,850 62%
ABx (BPg) JTA JAL 60,600 32% 30,300 66% 33,850 62%
22 (P E) JTA JAL 60,600 33% 30,300 66% 33,850 62%
12 JTA JAL 60,600 35% 30,300 67% 33,850 64%
IR (FHFm) =RE[ALRETH | BEE CHA) JAL JTA 74,800 31% 37,400 66% 39,600 64%
AiEHX |ERCHH) JTA JAL 74,800 31% 37,400 66% 39,600 64%
=29 fEEFE S GRE) JTA |JTA/RAC 44,800 17% 22,400 59% 23,050 57%
EoHE | FER) JTA/RAC| JTA 44,800 17% 22,400 59% 23,050 57%
ER=71E R [hiE (33ER) JTA [JTA/RAC 45,400 25% 22,700 62% 23,500 61%
GEF  [HiE(F3ER) JTA/RAC| JTA 45,400 25% 22,700 62% 23,500 61%
ZimAl=haiE ZEAFE |RECHA) JAL JTA 77,200 34% 38,600 67% 43,600 63%
AEHX |[ERCHA) JTA JAL 77,200 34% 38,600 67% 43,600 63%
BJI=%H1E BINE |[ERECHA) JAL JTA 75,300 35% 37,650 67% 42 400 63%
AEHX |[HRERCHA) JTA JAL 75,300 35% 37,650 67% 42 400 63%
PR =xR1iE BlRE |[HFECHA) JAL JTA 74,800 35% 37,400 67% 42,200 63%
AiIEX |ERCHH) JTA JAL 74,800 35% 37,400 67% 42 200 63%
wLh=H18 whaEFE |[EE(CHH) JAL JTA 74,200 35% 37,100 68% 41,850 63%
AEHX |[ERCHA) JTA JAL 74,200 35% 37,100 68% 41,850 63%
HREE=Fh1E BREE® |[HZFCHHA) JAL JTA 69,500 35% 34,750 67% 39,550 63%
AEH |[ERCHA) JTA JAL 69,500 35% 34,750 67% 39,550 63%
EHx=AiE EHE |HEECHA) JAL JTA 69,200 34% 34,600 67% 39,350 63%
AiEFE |[HRCHA) JTA JAL 69,200 34% 34,600 67% 39,350 63%
=R=%"1E =R¥ |EHRCHH) JAL JTA 69,200 34% 34,600 67% 39,350 62%
AEHE |[ERCHA) JTA JAL 69,200 34% 34,600 67% 39,350 62%
ME=R1E MEX [ERCHA) JAL JTA 69,200 30% 34,600 65% 39,350 60%
AEHE |[ERCHA) JTA JAL 69,200 30% 34,600 65% 39,350 60%
Wz =x"1E WHHE | ERECHHA) JAL JTA 69,200 23% 34,600 62% 39,350 56%
AIEX |ERCHH) JTA JAL 69,200 23% 34,600 62% 39,350 56%
IMA=ET INRFE | PEE GRER) JTA |JTA/RAC 60,600 12% 30,300 56% 33,700 51%
=EoHE | PiE () JTA/RAC| JTA 60,600 12% 30,300 56% 33,700 51%
INR=F1E INAFE [ERFECHA) JAL JTA 69,000 28% 34,500 64% 39,250 59%
PiE (ARER) JTA |JTA/RAC 69,000 8% 34,500 54% 39,250 48%
AEHX |[ERERCHA) JTA JAL 69,000 28% 34,500 64% 39,250 59%
s (FRER) JTA/RAC| JTA 69,000 8% 34,500 54% 39,250 48%
Ml == MELFE | PEE(BRER) JTA |JTA/RAC 47,300 23% 23,650 62% 26,100 58%
EoHE | (GRE) JTA/RAC| JTA 47,300 23% 23,650 62% 26,100 58%
FlL=%"iE MILF |48 (3RE) JTA [JTA/RAC 52,000 23% 26,000 62% 29,400 57%
AEE  [H4E(FRER) JTA/RAC| JTA 52,000 23% 26,000 62% 29,400 57%
B (NER) =165 | 4@ @B % | Xk FFD) JAL JAL 54,900 34% 27,450 67% 27,900 66%
2 JTA JAL 54,900 36% 27,450 68% 27,900 68%
EEHR ([ KRUFM JAL JAL 54,900 34% 27,450 67% 27,900 66%
GizlEd JAL JTA 54,900 36% 27,450 68% 27,900 68%
B (ANER) =L & |+ 35 | Kk (B JAL JAL 51,000 34% 25,500 67% 26,850 65%
12 JTA JAL 51,000 40% 25,500 70% 26,850 68%
LEeH [KERUFFD JAL JAL 51,000 34% 25,500 67% 26,850 65%
12 JAL JTA 51,000 40% 25,500 70% 26,850 68%
i (GRER) =350 |98 BH) % 12 [E JTA JAL 34,800 44% 17,400 72% 19,750 68%
S EF 12 [E JAL JTA 34,800 44% 17,400 72% 19,750 68%
PR (BRER) =1L iR (B 12 [E JTA JAL 31,500 47% 15,750 73% 17,600 70%
AL 12 [E JAL JTA 31,500 47% 15,750 73% 17,600 70%
BRCHA)=5RE|EmEBE)%] FHiE JTA RAC 69,000 15% 34,500 58% 39,100 52%
ERER 48 (F85H) RAC JAL 69,000 16% 34,500 58% 39,100 53%
AiE RAC JTA 69,000 15% 34,500 58% 39,100 52%
KR (FFD =5E| SHEFR [HiE G RAC JAL 56,900 24% 28,450 62% 31,950 58%
AR (BEFE) =5ME| AR ERE| FHiE JTA RAC 56,900 18% 28,450 59% 31,950 54%
EREH |42 GRE) RAC JTA 56,900 24% 28,450 62% 31,950 58%
AiE RAC JTA 56,900 18% 28,450 59% 31,950 54%
EZEECH) =5HE| SHREFK |+ GEH) RAC JTA 55,500 31% 27,750 65% 31,350 61%
2l =53 = SBREH |HiEGRE) RAC JTA 53,400 21% 26,700 61% 28,600 58%
B (| =5SMEEBBR| FHiE JTA/RAC| RAC 34,400 14% 17,200 57% 20,850 48%
SEFHE FiE RAC |JTA/RAC 34,400 14% 17,200 57% 20,850 48%
BRCPHE)=AXEmxcHm) % $4E (3R 5) JAL [JTA/RAC 54,800 10% 27,400 55% 33,650 45%
AKXKEFE |HHE(ARE) JTA/RAC| JAL 54,800 10% 27,400 55% 33,650 45%
KR (B = AKX B | KB F) % 48 (BRER) JAL |[JTA/RAC 43,400 19% 21,700 59% 25,600 52%
AKXKEF |HHE(ARE) JTA/RAC| JAL 43,400 19% 21,700 59% 25,600 52%
KPR (BA78) = A KB | KBz (B97E) | ;458 (B ER) JTA |JTA/RAC 43,400 19% 21,700 59% 25,600 52%
AKXKEH |HHE(FRE) JTA/RAC| JTA 43,400 19% 21,700 59% 25,600 52%
ZHE (D) =AXE|anE (i) | 8 (B E) JTA |JTA/RAC 48,000 18% 24,000 59% 28,500 51%
AKXKEH |4 FRER) JTA/RAC| JTA 48,000 18% 24,000 59% 28,500 51%
BR=AXE fEEE |48 (GRER) JTA |JTA/RAC 35,300 23% 17,650 62% 21,200 54%
AKXKEHE |HHEGRE) JTA/RAC| JTA 35,300 23% 17,650 62% 21,200 54%
RGNS =RE | MR HB)F Gizlid JTA JAL 35,300 43% 17,650 72% 20,050 68%
mER GitE JAL JTA 35,300 43% 17,650 72% 20,050 68%
2

FELCIFIALR— LR—CH CHERLFEE N,



A :2018/10/24

MRk E 5| EEX(128138~18A50. 386H~28AE%E%)

QUSRI FMANG], VSAIPMNREFRRBES], VSAIFEEAVERFIFHIRNS T TEER (FERF) TR &HT=Y1,000MZME

KISAIDBRENTNBR -ELTTVFET,

OIT7—ARNISARRIERBIG . T7—ANISANRFHFRBEIS], 77— ARG HEANVERHFREISETRER (&) 1R H=Y8,000MZEME
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X R BE® | £HBO _E—o#A | E—=9# | E—=9#
ZED | 2E0 | zEd || /5;;3/6 3] %= wE |1 /5;;3/6 2|3 (%= wE |1 /5;;3/6 P B
RRECHA) == |ExE)%| ;%4 (3 5) JAL |JTA/RAC 64,600 6% 32,300 53% 36,550 47%
ENE B R L€ ) JTA/RAC|]  JAL 64,600 6% 32,300 53% 36,550 47%
HRCHA) =R\ |Zx @A) % HiE (BH) JAL [JUTA/RAC 68,900 8% 34,450 54% 39,050 48%
KB (BEFa) JAL JTA 68,900 18% 34,450 59% 39,050 54%
AiEHE  |HEGEE) JTA/RAC| JAL 68,900 8% 34,450 54% 39,050 48Y%
KR (R == | AR ER) | 548 (3R ) JAL |JTA/RAC 56,100 9% 28,050 55% 30,850 50%
BEoHE | GRER) JTA/RAC| JAL 56,100 9% 28,050 55% 30,850 50%
KB (BTE) == o | KBx (B978) | ;458 (B ER) JTA |JTA/RAC 56,100 9% 28,050 55% 30,850 50%
=o% [ GE) JTA/RAC| JTA 56,100 9% 28,050 55% 30,850 50%
KR ({FFH) =F/18 | KBk B % | 4dE (R ER) JAL |JTA/RAC 56,800 16% 28,400 58% 31,850 53%
AiEFE  |HEGRER) JTA/RAC| JAL 56,800 16% 28,400 58% 31,850 53%
KPR (BBPE) = F/ 18 | KBx (B9E) % | 4d (AR ER) JTA |[JUTA/RAC 56,800 16% 28,400 58% 31,850 53%
RiEE  |HEGRER) JTA/RAC| JTA 56,800 16% 28,400 58% 31,850 53%
ZHE (b)) == h| =2 m x| 48 (RFH) JTA |JTA/RAC 57,200 14% 28,600 57% 31,450 53%
=EoHE [HPEGEH) JTA/RAC| JTA 57,200 14% 28,600 57% 31,450 53%
LHE(hEf) =RiE| =R ) %[ 48 (B EH) JTA |JTA/RAC 59,900 18% 29,950 59% 32,950 55%
RiEE |HEGRE) JTA/RAC| JTA 59,900 18% 29,950 59% 32,950 55%
ALIE (B F %) = i (B8 | ALIR (B T80 % | R (CFIH) JAL JAL 66,100 25% 33,050 62% 36,350 59%
KR RFH JAL JAL 66,100 26% 33,050 63% 36,350 59%
KB (BEFa) JAL JTA 66,100 26% 33,050 63% 36,350 59%
ZEE (P E) JAL JTA 66,100 27% 33,050 63% 36,350 60%
12 JAL JTA 66,100 29% 33,050 64% 36,350 61%
B (BE) | HE CHA) JAL JAL 66,100 25% 33,050 62% 36,350 59%
KR (EFH JAL JAL 66,100 26% 33,050 63% 36,350 59%
KB (B§Pa) JTA JAL 66,100 26% 33,050 63% 36,350 59%
LB (PE) JTA JAL 66,100 27% 33,050 63% 36,350 60%
1= JTA JAL 66,100 29% 33,050 64% 36,350 61%
AR (FFr%) =RE|RETFH | TR (FHA) JAL JTA 76,300 30% 38,150 65% 41,950 61%
AiEE |ERERCH) JTA JAL 76,300 30% 38,150 65% 41,950 61%
fEE==10 BEFE | (GRE) JTA |JTA/RAC 49,400 9% 24,700 54% 27,150 50%
=B [PEGREH) JTA/RAC| JTA 49,400 9% 24,700 54% 27,150 50%
fEE=hR1iE fEEFE S GRE) JTA [JUTA/RAC 52,800 12% 26,400 56% 29,050 52%
AiEHE  |HEGEE) JTA/RAC| JTA 52,800 12% 26,400 56% 29,050 52%
LGl =RiE ZmAl % | RECHE) JAL JTA 81,900 30% 40,950 65% 45,050 62%
AiEHX |EHERCHH) JTA JAL 81,900 30% 40,950 65% 45,050 62%
BJI=F18 BJIFE |RFECHH) JAL JTA 80,400 30% 40,200 65% 44,200 62%
AiEX |EHECHH) JTA JAL 80,400 30% 40,200 65% 44,200 62%
fiR =18 PIERFE |RFECHH) JAL JTA 79,800 31% 39,900 65% 43,900 62%
AiEE |ERCHH) JTA JAL 79,800 31% 39,900 65% 43,900 62%
wh=H"i8 whFE |[RRCHA) JAL JTA 79,300 31% 39,650 65% 43,600 62%
AiEE |ERCHH) JTA JAL 79,300 31% 39,650 65% 43,600 62%
HEE=H1E BRHEEH |HEECHH) JAL JTA 72,200 32% 36,100 66% 39,700 63%
AiEHX |ERCHH) JTA JAL 72,200 32% 36,100 66% 39,700 63%
EH=HRiE FHFE ([HRECHA) JAL JTA 69,200 34% 34,600 67% 39,350 63%
AiEE |FRCHH) JTA JAL 69,200 34% 34,600 67% 39,350 63%
—R=FH1E =R¥E |EHERCIH) JAL JTA 69,200 34% 34,600 67% 39,350 62%
AiEHX |EHERCHH) JTA JAL 69,200 34% 34,600 67% 39,350 62%
1l — E 1l %.: s i h . b ’ h
ME=A1 MEEX |ERECHH) JAL JTA 69,200 30% 34,600 65% 39,350 60%
AiEHX |EHECHH) JTA JAL 69,200 30% 34,600 65% 39,350 60%
Wfs=H1E Wk [HECIHR) JAL JTA 69,200 23% 34,600 62% 39,350 56%
AiIEE |ERCEH) JTA JAL 69,200 23% 34,600 62% 39,350 56%
IMA=FEH INAFE |PEE (RER) JTA |[JUTA/RAC 68,500 1% 34,250 50% 37,700 45Y%
=oH [HHEGEH) JTA/RAC| JTA 68,500 1% 34,250 50% 37,700 45%
INA=F1E IMaFE | ERECHH) JAL JTA 69,000 28% 34,500 64% 39,250 59%
iR GIRER) JTA |[JUTA/RAC 69,000 8% 34,500 549% 39,250 48%
AiEHER |ERCHH) JTA JAL 69,000 28% 34,500 64% 39,250 59%
P8 (FRER) JTA/RAC| JTA 69,000 8% 34,500 54% 39,250 48%
MU= MLF |48 (3RER) JTA [JUTA/RAC 51,400 17% 25,700 58% 28,250 54%
B [PHEGREH) JTA/RAC| JTA 51,400 17% 25,700 58% 28,250 54%
FlL=F/1E MILF |48 (3RE) JTA |[JUTA/RAC 53,500 21% 26,750 61% 29,450 57%
AiEH  |H4EGRE) JTA/RAC| JTA 53,500 21% 26,750 61% 29,450 57%
hid (AR ER) =TE& | @ (BH) | KR ((FF) JAL JAL 60,000 28% 30,000 64% 33,000 60%
12 JTA JAL 60,000 30% 30,000 65% 33,000 62%
tER | KERUEEM JAL JAL 60,000 28% 30,000 64% 33,000 60%
12 JAL JTA 60,000 30% 30,000 65% 33,000 62%
B (BRER) = (LS | HE@H) | Kk (B JAL JAL 57,000 27% 28,500 63% 31,350 60%
12 JTA JAL 57,000 32% 28,500 66% 31,350 63%
e | XERUEM) JAL JAL 57,000 27% 28,500 63% 31,350 60%
1= JAL JTA 57,000 32% 28,500 66% 31,350 63%
R (BRER) =2 A REEH) % 12 JTA JAL 34,800 449 17,400 72% 19,750 68%
ISPk 12 JAL JTA 34,800 44% 17,400 72% 19,750 68%
R (BRER) =L AR GRE) % 12 JTA JAL 36,000 39% 18,000 69% 19,800 66%
NIIE:S 12 JAL JTA 36,000 39% 18,000 69% 19,800 66%
HE(PR)=5%E |z FHE) RiE JTA RAC 69,000 15% 34,500 58% 39,100 52%
EREH |42 GRE) RAC JAL 69,000 16% 34,500 58% 39,100 53%
RiE RAC JTA 69,000 15% 34,500 58% 39,100 52%
KRR =58E| SHER |+ GEH) RAC JAL 56,900 24% 28,450 62% 31,950 58%
XBx (BE7E) = 5 3R E | KBx (BIFE) % RiE JTA RAC 56,900 18% 28,450 59% 31,950 54%
SMREF |4 GRER) RAC JTA 56,900 24Y% 28,450 62% 31,950 58Y%
RiE RAC JTA 56,900 18% 28,450 59% 31,950 54%
E2HE(RN) =51E| SHRER |+ EGEH) RAC JTA 55,500 31% 27,750 65% 31,350 61%
12 =5 EH SHREFE |+ GRER) RAC JTA 53,400 21% 26,700 61% 28,600 58%
8 (E) = 5 IRE | 48 (BE) RiE JTA/RAC| RAC 34,400 14% 17,200 57% 20,850 48Y%
SIEF FiE RAC [JTA/RAC 34,400 14% 17,200 57% 20,850 48%
HRCHA)=AXE|m=Hm) | 8 (AR EH) JAL [JUTA/RAC 54,800 10% 27,400 55% 33,650 45%
AXKEFH |H4E (FBF) JTA/RAC| JAL 54,800 10% 27,400 55% 33,650 45%
KR () = AKX B KBR (FFD) | 4E (B ER) JAL |JTA/RAC 43,400 19% 21,700 59% 25,600 52%
AKEF |4 (FBFH) JTA/RAC|  JAL 43,400 19% 21,700 59% 25,600 52%
KPR (BEFE) = AKX 5| KR (BE78) | 948 (GBER) JTA |JTA/RAC 43,400 19% 21,700 59% 25,600 52%
AKEFK |4 () JTA/RAC| JTA 43,400 19% 21,700 59% 25,600 52%
ZHE (D) =AXE|anE (i) | 8 (B E) JTA |JTA/RAC 48,000 18% 24,000 59% 28,500 51%
AKEF |4 (GBH) JTA/RAC| JTA 48,000 18% 24,000 59% 28,500 51%
BEER=AXE EEFE | GRE) JTA |JTA/RAC 35,300 23% 17,650 62% 21,200 54%
AKEF |4 (GBEH) JTA/RAC| JTA 35,300 23% 17,650 62% 21,200 54Y%
IR (RS =S R & 12 JTA JAL 39,800 36% 19,900 68% 21,900 65%
mEX i JAL JTA 39,800 36% 19,900 68% 21,900 65%
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